

Tabulation of Bids

Page 1 of 6

Contract ID: 18415 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: April 12, 2018 District(s): C4
Call Order: 415 Project(s): N/A

Line No / Item ID Item Description			CONSTRUCTION (2) IEW CON GROU			(3) PHOENIX MARINE CO. DE, LLC		
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0001	BRIDGE		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	1.00000	1.00	0.01000	0.01	50,000.00000	50,000.00
PERFORM PAYMENT	MANCE BOND AND BOND	DOLL						
0002	152004P	1.000	1.00000	1.00	0.01000	0.01	25,000.00000	25,000.00
	AND CONTRACTOR IVE LIABILITY CE	R'S DOLL						
0003	MMB173M	100,000.000	1.00000	100,000.00	1.00000	100,000.00	1.00000	100,000.00
SOLID WA	ASTE DISPOSAL	DOLL						
0004	MMG010M	1,000.000	1.00000	1,000.00	1.00000	1,000.00	1.00000	1,000.00
TELEPHO	NE SERVICE	DOLL						
0005	MMB172M	2,400.000	24.00000	57,600.00	0.01000	24.00	275.00000	660,000.00
LANE CLC	SURES	HOUR						



Tabulation of Bids

Page 2 of 6

Contract ID: 18415 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: April 12, 2018 District(s): C4
Call Order: 415 Project(s): N/A

Line No / Item ID Item Description					STRUCTION P, INC.	(3) PHOENIX MARINE CO. DE, LLC		
Alt Set / Alt Member Qua		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	BRIDGE		Cat Al	t Set:	Cat A	It Member:	
0006	109006M	375,000.000	1.00000	375,000.00	1.00000	375,000.00	1.00000	375,000.00
FORCE A	ACCOUNT	DOLL						
0007	MMB181M	2,600.000	396.00000	1,029,600.00	437.86000	1,138,436.00	775.00000	2,015,000.00
REPAIR	CATEGORY "A"	HOUR						
8000	MMB185M	900.000	440.00000	396,000.00	474.93000	427,437.00	750.00000	675,000.00
DIVING C	CREW	HOUR						
0009	MMG054M	1,600.000	155.00000	248,000.00	170.60000	272,960.00	140.00000	224,000.00
WORKER	R, TYPE "A"	HOUR						
0010	MMG057M	1,600.000	74.00000	118,400.00	78.00000	124,800.00	125.00000	200,000.00
WORKER, TYPE "B" HOUR		HOUR						
0011	MMB092M	500.000	135.00000	67,500.00	135.00000	67,500.00	135.00000	67,500.00
CREW COORDINATOR HOUR								



Tabulation of Bids Page 3 of 6

Contract ID: 18415 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: April 12, 2018 District(s): C4
Call Order: 415 Project(s): N/A

Contract Time: 05/31/19 COMPLETION DATE Min: Max:

Contract Description: MTN TIMBER/UNDERWATER/DRAINAGE CENTRAL- 2018

Line No / Item ID Item Description		(1) MOUNT CO CO.,		(2) IEW CONSTRUCTION GROUP, INC.		(3) PHOENIX MARINE CO. DE, LLC	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	BRIDGE		Cat Alt	Set:	Cat A	It Member:	
0012 MMG025M OVERTIME DIFFERENTIAL	50,000.000 (OD) DOLL	1.00000	50,000.00	1.00000	50,000.00	1.00000	50,000.00
Section Totals:	, ,		\$2,443,102.00		\$2,557,157.02		\$4,442,500.00
Co	ontract Totals		\$2,443,102.00		\$2,557,157.02		\$4,442,500.00
Cost		\$2,443,102.00		\$2,557,157.02		4,442,500.00	

() indicates item is bid as Lump Sum $\,$



Tabulation of Bids Page 4 of 6

Contract ID: 18415 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: April 12, 2018 District(s): C4
Call Order: 415 Project(s): N/A

Line No / Item ID Item Description Alt Set / Alt Member			(4) JPC GR	OUP, INC.				
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	BRIDGE		Cat Alt	Set:	Cat A	It Member:	
0001 1	51006M	1.000	80,000.00000	80,000.00				
PERFORMA PAYMENT E	ANCE BOND AND BOND	DOLL						
0002 1	52004P	1.000	25,000.00000	25,000.00				
OWNER'S AND CONTRACTOR'S DOLL PROTECTIVE LIABILITY INSURANCE		R'S DOLL						
0003 M	ИМВ173M	100,000.000	1.00000	100,000.00				
SOLID WAS	TE DISPOSAL	DOLL						
0004 M	MMG010M	1,000.000	1.00000	1,000.00				
TELEPHONE SERVICE DOLL								
0005 M	MB172M	2,400.000	200.00000	480,000.00				
LANE CLOSURES HOUR								



Tabulation of Bids Page 5 of 6

Contract ID: 18415 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: April 12, 2018 District(s): C4
Call Order: 415 Project(s): N/A

Line No / Item ID Item Description			(4) JPC GR	OUP, INC.				
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		BRIDGE		Cat Alt Set:		Cat Alt Member:		
0006	109006M	375,000.000	1.00000	375,000.00				
FORCE A	ACCOUNT	DOLL						
0007	MMB181M	2,600.000	1,100.00000	2,860,000.00				
REPAIR (CATEGORY "A"	HOUR						
8000	MMB185M	900.000	550.00000	495,000.00				
DIVING C	CREW	HOUR						
0009	MMG054M	1,600.000	130.00000	208,000.00				
WORKER	R, TYPE "A"	HOUR						
0010	MMG057M	1,600.000	100.00000	160,000.00				
WORKER, TYPE "B"		HOUR						
0011	MMB092M	500.000	135.00000	67,500.00				
CREW COORDINATOR		HOUR						



Contract ID: 18415

Tabulation of Bids Page 6 of 6

Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: April 12, 2018 District(s): C4
Call Order: 415 Project(s): N/A

Contract Time: 05/31/19 COMPLETION DATE Min: Max:

Contract Description: MTN TIMBER/UNDERWATER/DRAINAGE CENTRAL- 2018

Line No / Item ID (4) JPC GROUP, INC. **Item Description** Alt Set / Alt Member **Quantity and Units Unit Price Ext Amount Unit Price Ext Amount Unit Price Ext Amount** SECTION: 0001 BRIDGE Cat Alt Set: Cat Alt Member: 50,000.00 0012 MMG025M 50,000.000 1.00000 OVERTIME DIFFERENTIAL (OD) **DOLL Section Totals:** \$4,901,500.00 \$4,901,500.00 **Contract Totals Cost Plus Time Totals** \$4,901,500.00

() indicates item is bid as Lump Sum



Vendor Ranking

Page:

Call Order: 415 Contract ID: 18415 Counties: HUNTERDON,

MERCER, MIDDLESEX, MONMOUTH,

OCEAN, SOMERSET,

WARREN

Letting Date: April 12, 2018 10:00 AM District(s): C4

Contract Time: 05/31/19 COMPLETION DATE

Contract Description: MTN TIMBER/UNDERWATER/DRAINAGE CENTRAL- 2018 Project(s): N/A

Rank	Vendor ID	/Name	Total Bid	Percent Of Low Bid
1	M6816	MOUNT CONSTRUCTION CO., INC.	\$2,443,102.00	100.00%
2	12943	IEW CONSTRUCTION GROUP, INC.	\$2,557,157.02	104.67%
3	81-1182909	PHOENIX MARINE CO. DE, LLC	\$4,442,500.00	181.84%
4	J7054	JPC GROUP, INC.	\$4,901,500.00	200.63%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,